

PAPER DETAILS

TITLE: Some identities of bivariate Pell and bivariate Pell-Lucas polynomials

AUTHORS: Yashwant Panwar

PAGES: 90-99

ORIGINAL PDF URL: <https://dergipark.org.tr/tr/download/article-file/3557252>



Some identities of bivariate Pell and bivariate Pell-Lucas polynomials

Yashwant Kumar Panwar^{1,*} 

¹Department of Mathematics, Government Model College, Jhabua, India

Abstract — In this paper, we obtain some identities for the bivariate Pell polynomials and bivariate Pell-Lucas polynomials. We establish some sums and connection formulas involving them. Moreover, we present its two cross two matrices representation and find some of its properties, such as the b^{th} power of the matrix. We finally derive the identities by using Binet's formula, generating function, and induction method.

Keywords: Bivariate Pell polynomials, bivariate Pell-Lucas polynomials, Binet's formula, generating function

Subject Classification (2020): 11B37, 11B39

1. Introduction

Sequences and polynomials have a wide range of applications in applied mathematics and physics. Bivariate polynomials are widely used in theoretical physics for modeling physical processes. Catalani [1-3] defined generalized bivariate polynomials from which, by specifying initial conditions, the bivariate Fibonacci and Lucas polynomials are obtained, and many interesting identities are derived. Belbachir and Bencherif [4] generalized to bivariate Fibonacci and Lucas polynomials properties obtained for Chebyshev polynomials. They proved that the coordinates of the bivariate polynomials over an appropriate basis are families of integers satisfying remarkable recurrence relations. Tuğlu et al. [5] presented generalized bivariate Fibonacci and Lucas p-polynomials, which are general forms of the Fibonacci, Lucas, Pell, Jacobsthal, Pell-Lucas, Jacobsthal-Lucas sequences, as well as Fibonacci, Lucas, Pell, Jacobsthal, Pell-Lucas, Jacobsthal-Lucas, bivariate Fibonacci and Lucas, first and second type of Chebyshev polynomials, and many others. Halıcı and Akyüz [6] derived some identities and some sum formulas for the bivariate Pell polynomials using different matrices. Saba and Boussayoud [7] introduced a symmetric function to derive a new generating function of bivariate Pell Lucas polynomials, also derived new symmetric functions, and gave some interesting properties. This study defines the identities of bivariate Pell and bivariate Pell-Lucas polynomials.

2. Preliminaries

For $n \geq 2$, the bivariate Pell polynomials sequence [6] is defined by

$$P_n(x, y) = 2xyP_{n-1}(x, y) + yP_{n-2}(x, y) \quad (2.1)$$

*Corresponding Author

¹yashwantpanwar@gmail.com

Article History: Received: 24 Nov 2023 — Accepted: 25 Dec 2023 — Published: 31 Dec 2023



Therefore, the first few bivariate Pell polynomials are

$$\{P_n(x, y)\} = \{0, 1, 2xy, 4x^2y^2 + y, 8x^3y^3 + 4xy^2, 16x^4y^4 + 12x^2y^3 + y^2, \dots\}$$

Binet's formula,

$$P_n(x, y) = \frac{\ell_1^n - \ell_2^n}{\ell_1 - \ell_2}$$

Generating function,

$$P_n(x, y) = \frac{t}{(1 - 2xyt - yt^2)}$$

For $n \geq 2$, the bivariate Pell-Lucas polynomials sequence [6] is defined by

$$Q_n(x, y) = 2xyQ_{n-1}(x, y) + yQ_{n-2}(x, y) \quad (2.2)$$

Therefore, the first few bivariate Pell-Lucas polynomials are

$$\{Q_n(x, y)\} = \{2, 2xy, 4x^2y^2 + 2y, 8x^3y^3 + 6xy^2, 16x^4y^4 + 16x^2y^3 + 2y^2, \dots\}$$

Binet's formula,

$$Q_n(x, y) = \ell_1^n + \ell_2^n$$

Generating function,

$$Q_n(x, y) = \frac{2 + 2xyt(x - 1)}{(1 - 2xyt - yt^2)}$$

The characteristic equation of recurrence relations (2.1) and (2.2) is

$$t^2 - 2xyt - y = 0$$

where $x \neq 0$, $y \neq 0$, and $x^2y^2 + y \neq 0$. This equation has two real roots: $\ell_1 = xy + \sqrt{x^2y^2 + y}$ and $\ell_2 = xy - \sqrt{x^2y^2 + y}$. Note that $\ell_1 + \ell_2 = 2xy$, $\ell_1\ell_2 = -y$, and $\ell_1 - \ell_2 = \sqrt{x^2y^2 + y}$. Moreover, $P_{-n}(x, y) = \frac{-1}{(-y)^n} P_n(x, y)$ and $Q_{-n}(x, y) = \frac{1}{(-y)^n} Q_n(x, y)$. The main objective of this study is to describe sums and connection formulas. Moreover, we introduce the special sums and prove them using Binet's formula.

3. Results and Discussions

We first establish sums and relations for bivariate Pell and bivariate Pell-Lucas polynomials. The motivation of this work comes from the study of [8-11].

Proposition 3.1. For $\vartheta, \omega \in \mathbb{Z}$, we get

$$\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} P_b(x, y) = P_{2\vartheta+2\omega}(x, y)$$

Proof.

By Binet's formula,

$$\begin{aligned}
\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} P_b(x, y) &= \sum_{b=0}^{c+d} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} \left(\frac{\ell_1^b - \ell_2^b}{\ell_1 - \ell_2} \right) \\
&= \frac{1}{\ell_1 - \ell_2} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} (\ell_1^b - \ell_2^b) \\
&= \frac{1}{\ell_1 - \ell_2} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} \{(2xy\ell_1)^b - (2xy\ell_2)^b\} y^{\vartheta+\omega-b} \\
&= \frac{1}{\ell_1 - \ell_2} \{(2xy\ell_1 + y)^{\vartheta+\omega} - (2xy\ell_2 + y)^{\vartheta+\omega}\}
\end{aligned}$$

Since ℓ_1 and ℓ_2 are the roots of $t^2 - 2xyt - y = 0$,

$$\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} P_b(x, y) = \frac{(\ell_1^2)^{\vartheta+\omega} - (\ell_2^2)^{\vartheta+\omega}}{\ell_1 - \ell_2} = P_{2\vartheta+2\omega}(x, y)$$

□

Proposition 3.2. For $\vartheta, \omega \in \mathbb{Z}$, we get

$$\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b (-y)^{\vartheta+\omega-b} P_b(x, y) = \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (-2y)^b P_{2\vartheta+2\omega-2b}(x, y)$$

Proof.

By Binet's formula,

$$\begin{aligned}
\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b (-y)^{\vartheta+\omega-b} P_b(x, y) &= \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b (-y)^{\vartheta+\omega-b} \left(\frac{\ell_1^b - \ell_2^b}{\ell_1 - \ell_2} \right) \\
&= \frac{1}{\ell_1 - \ell_2} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b (-y)^{\vartheta+\omega-b} (\ell_1^b - \ell_2^b) \\
&= \frac{1}{\ell_1 - \ell_2} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} \{(2xy\ell_1)^b - (2xy\ell_2)^b\} (-y)^{\vartheta+\omega-b} \\
&= \frac{1}{\ell_1 - \ell_2} \{(2xy\ell_1 - y)^{\vartheta+\omega} - (2xy\ell_2 - y)^{\vartheta+\omega}\}
\end{aligned}$$

Since ℓ_1 and ℓ_2 are the roots of $t^2 - 2xyt - y = 0$,

$$2xy\ell_1 - y = \ell_1^2 - 2y$$

and

$$2xy\ell_2 - y = \ell_2^2 - 2y$$

Thus,

$$\begin{aligned} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b (-y)^{\vartheta+\omega-b} P_b(x, y) &= \frac{(\ell_1^2 - 2y)^{\vartheta+\omega} - (\ell_2^2 - 2y)^{\vartheta+\omega}}{\ell_1 - \ell_2} \\ &= \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (-2y)^b P_{2\vartheta+2\omega-2b}(x, y) \end{aligned}$$

□

Proposition 3.3. For $\vartheta, \omega \in \mathbb{Z}$, we get

$$\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^{\vartheta+\omega-b} (-1)^b Q_b(x, y) = Q_{\vartheta+\omega}(x, y)$$

Proof.

By Binet's formula,

$$\begin{aligned} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^{\vartheta+\omega-b} (-1)^b Q_b(x, y) &= \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^{\vartheta+\omega-b} (-1)^b (\ell_1^b + \ell_2^b) \\ &= \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^{\vartheta+\omega-b} (-1)^b (-\ell_1^b) + \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^{\vartheta+\omega-b} (-1)^b (-\ell_2^b) \\ &= (2xy - \ell_1)^{\vartheta+\omega} + (2xy - \ell_2)^{\vartheta+\omega} \\ &= \left(\frac{-y}{\ell_1}\right)^{\vartheta+\omega} + \left(\frac{-y}{\ell_2}\right)^{\vartheta+\omega} \\ &= (-y)^{\vartheta+\omega} \frac{\ell_1^{\vartheta+\omega} + \ell_2^{\vartheta+\omega}}{(\ell_1 \ell_2)^{\vartheta+\omega}} \\ &= Q_{\vartheta+\omega}(x, y) \end{aligned}$$

□

Proposition 3.4. For $\vartheta, \omega \in \mathbb{Z}$, we get

$$\sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} Q_b(x, y) = Q_{2\vartheta+2\omega}(x, y)$$

Proof.

By Binet's formula,

$$\begin{aligned} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} Q_b(x, y) &= \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} Q_b(x, y) (\ell_1^b + \ell_2^b) \\ &= \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy \ell_1)^b y^{\vartheta+\omega-b} + \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy \ell_2)^b y^{\vartheta+\omega-b} \\ &= (2xy \ell_1 + y)^{\vartheta+\omega} + (2xy \ell_2 + y)^{\vartheta+\omega} \end{aligned}$$

Since ℓ_1 and ℓ_2 are the roots of $t^2 - 2xyt - y = 0$,

$$\begin{aligned} \sum_{b=0}^{\vartheta+\omega} \binom{\vartheta+\omega}{b} (2xy)^b y^{\vartheta+\omega-b} Q_b(x, y) &= (\ell_1^2)^{\vartheta+\omega} + (\ell_2^2)^{\vartheta+\omega} \\ &= Q_{2\vartheta+2\omega}(x, y) \end{aligned}$$

□

Proposition 3.5. If $P_b(x, y)$ and $Q_b(x, y)$ are Bivariate Pell and Bivariate Pell-Lucas polynomials, then for $b \geq \vartheta + \omega$,

$$P_{b+\vartheta+\omega}(x, y) - (-y)^{\vartheta+\omega} P_{b-\vartheta-\omega}(x, y) = P_{\vartheta+\omega}(x, y) Q_b(x, y)$$

Proof.

By Binet's formula,

$$\begin{aligned} P_{b+\vartheta+\omega}(x, y) - (-y)^{\vartheta+\omega} P_{b-\vartheta-\omega}(x, y) &= \frac{\ell_1^{b+\vartheta+\omega} - \ell_2^{b+\vartheta+\omega}}{\ell_1 - \ell_2} - (-y)^{\vartheta+\omega} \left(\frac{\ell_1^{b-\vartheta-\omega} - \ell_2^{b-\vartheta-\omega}}{\ell_1 - \ell_2} \right) \\ &= \frac{(\ell_1^{b+\vartheta+\omega} - \ell_2^{b+\vartheta+\omega}) - (-y)^{\vartheta+\omega} (\ell_1^{b-\vartheta-\omega} - \ell_2^{b-\vartheta-\omega})}{\ell_1 - \ell_2} \\ &= \frac{(\ell_1^{b+\vartheta+\omega} - \ell_2^{b+\vartheta+\omega}) - (\ell_1 \ell_2)^{\vartheta+\omega} (\ell_1^{b-\vartheta-\omega} - \ell_2^{b-\vartheta-\omega})}{\ell_1 - \ell_2} \\ &= \frac{(\ell_1^{b+\vartheta+\omega} - \ell_2^{b+\vartheta+\omega}) - (\ell_1^b \ell_2^{\vartheta+\omega} - \ell_1^{\vartheta+\omega} \ell_2^b)}{\ell_1 - \ell_2} \\ &= \left(\frac{\ell_1^{\vartheta+\omega} - \ell_2^{\vartheta+\omega}}{\ell_1 - \ell_2} \right) (\ell_1^b + \ell_2^b) \\ &= P_{\vartheta+\omega}(x, y) Q_b(x, y) \end{aligned}$$

□

Secondly, we investigate sums for Bivariate Pell and Pell-Lucas polynomials with negative indices.

Theorem 3.6. For $\vartheta \geq 1$ and ω any integer, we get

$$\sum_{i=0}^b (-y)^i P_{-i\vartheta-\omega}(x, y) = \begin{cases} \frac{P_{\vartheta b+\vartheta+\omega}(x, y) - (-y)^{\vartheta} P_{\vartheta b+\omega}(x, y) - (-y)^{\omega} P_{\vartheta-\omega}(x, y) + P_{\omega}(x, y)}{(-1)^{\vartheta} - Q_{\vartheta}(x, y) + 1}, & \omega < \vartheta \\ \frac{P_{\vartheta b+\vartheta+\omega}(x, y) - (-y)^{\vartheta} P_{\vartheta b+\omega}(x, y) + (-y)^{\omega} P_{\vartheta-\omega}(x, y) + P_{\omega}(x, y)}{(-1)^{\vartheta} - Q_{\vartheta}(x, y) + 1}, & \text{otherwise} \end{cases}$$

Proof.

Since

$$\sum_{i=0}^b (-y)^i P_{-i\vartheta-\omega}(x, y) = - \sum_{i=0}^b P_{i\vartheta+\omega}(x, y)$$

By Binet's formula,

$$\begin{aligned}
 \sum_{i=0}^b (-y)^i P_{-i\vartheta-\omega}(x, y) &= - \sum_{i=0}^b \frac{\ell_1^{i\vartheta+\omega} - \ell_2^{i\vartheta+\omega}}{\ell_1 - \ell_2} \\
 &= \frac{-1}{\ell_1 - \ell_2} \left(\ell_1^\omega \sum_{i=0}^b \ell_1^{\vartheta i} - \ell_2^\omega \sum_{i=0}^b \ell_2^{\vartheta i} \right) \\
 &= \frac{-1}{\ell_1 - \ell_2} \left[\frac{\ell_1^{\vartheta b+\vartheta+\omega} - \ell_1^\omega}{\ell_1^\vartheta - 1} - \frac{\ell_2^{\vartheta b+\vartheta+\omega} - \ell_2^\omega}{\ell_2^\vartheta - 1} \right] \\
 &= \frac{(\ell_1^{\vartheta b+\vartheta+\omega} - \ell_2^{\vartheta b+\vartheta+\omega}) - (\ell_1 \ell_2)^\vartheta (\ell_1^{\vartheta b+\omega} - \ell_2^{\vartheta b+\omega}) - (\ell_1^\vartheta \ell_2^\omega - \ell_1^\omega \ell_2^\vartheta) + (\ell_1^\omega - \ell_2^\omega)}{(\ell_1 - \ell_2) \{ (\ell_1 \ell_2)^\vartheta - (\ell_1^\vartheta + \ell_2^\vartheta) + 1 \}} \\
 &= \begin{cases} \frac{P_{\vartheta b+\vartheta+\omega}(x, y) - (-y)^\vartheta P_{\vartheta b+\omega}(x, y) - (-y)^\omega P_{\vartheta-\omega}(x, y) + P_\omega(x, y)}{(-1)^\vartheta - Q_\vartheta(x, y) + 1}, & \omega < \vartheta \\ \frac{P_{\vartheta b+\vartheta+\omega}(x, y) - (-y)^\vartheta P_{\vartheta b+\omega}(x, y) + (-y)^\omega P_{\vartheta-\omega}(x, y) + P_\omega(x, y)}{(-1)^\vartheta - Q_\vartheta(x, y) + 1}, & \text{otherwise} \end{cases}
 \end{aligned}$$

□

Theorem 3.7. For $\vartheta \geq 1$ and ω any integer, we get

$$\sum_{i=0}^b (-y)^i Q_{-i\vartheta-\omega}(x, y) = \begin{cases} \frac{(-y)^\vartheta Q_{\vartheta b+\omega}(x, y) - Q_{\vartheta b+\vartheta+\omega}(x, y) - (-y)^\omega Q_{\vartheta-\omega}(x, y) + Q_\omega(x, y)}{(-1)^\vartheta - Q_\vartheta(x, y) + 1}, & \omega < \vartheta \\ \frac{(-y)^\vartheta Q_{\vartheta b+\omega}(x, y) - Q_{\vartheta b+\vartheta+\omega}(x, y) + (-y)^\omega Q_{\vartheta-\omega}(x, y) + Q_\omega(x, y)}{(-1)^\vartheta - Q_\vartheta(x, y) + 1}, & \text{otherwise} \end{cases}$$

Proof.

Since

$$\sum_{i=0}^b (-y)^i Q_{-i\vartheta-\omega}(x, y) = \sum_{i=0}^b Q_{i\vartheta+\omega}(x, y)$$

By Binet's formula,

$$\begin{aligned}
 \sum_{i=0}^b (-y)^i Q_{-i\vartheta-\omega}(x, y) &= \sum_{i=0}^b (\ell_1^{i\vartheta+\omega} + \ell_2^{i\vartheta+\omega}) \\
 &= \ell_1^\omega \sum_{i=0}^b \ell_1^{\vartheta i} + \ell_2^\omega \sum_{i=0}^b \ell_2^{\vartheta i} \\
 &= \frac{\ell_1^{\vartheta b+\vartheta+\omega} - \ell_1^\omega}{\ell_1^\vartheta - 1} + \frac{\ell_2^{\vartheta b+\vartheta+\omega} - \ell_2^\omega}{\ell_2^\vartheta - 1} \\
 &= \frac{(\ell_1 \ell_2)^\vartheta (\ell_1^{\vartheta b+\omega} + \ell_2^{\vartheta b+\omega}) - (\ell_1^{\vartheta b+\vartheta+\omega} + \ell_2^{\vartheta b+\vartheta+\omega}) - (\ell_1^\vartheta \ell_2^\omega + \ell_1^\omega \ell_2^\vartheta) + (\ell_1^\omega + \ell_2^\omega)}{(\ell_1 - \ell_2) \{ (\ell_1 \ell_2)^\vartheta - (\ell_1^\vartheta + \ell_2^\vartheta) + 1 \}}
 \end{aligned}$$

$$= \begin{cases} \frac{(-y)^\vartheta Q_{\vartheta b+\omega}(x, y) - Q_{\vartheta b+\vartheta+\omega}(x, y) - (-y)^\omega Q_{\vartheta-\omega}(x, y) + Q_\omega(x, y)}{(-1)^\vartheta - Q_\vartheta(x, y) + 1}, & \omega < \vartheta \\ \frac{(-y)^\vartheta Q_{\vartheta b+\omega}(x, y) - Q_{\vartheta b+\vartheta+\omega}(x, y) + (-y)^\omega Q_{\vartheta-\omega}(x, y) + Q_\omega(x, y)}{(-1)^\vartheta - Q_\vartheta(x, y) + 1}, & \text{otherwise} \end{cases}$$

□

Thirdly, we establish some identities for bivariate Pell and bivariate Pell-Lucas polynomials.

Theorem 3.8. For $\vartheta, \omega \in \mathbb{Z}$, we get

$$\sum_{b=0}^{\vartheta+\omega} P_b(x, y) t^{-b} = \frac{1}{t^{\vartheta+\omega}(t^2 - 2xyt - y)} \{t^{\vartheta+\omega+1} - tP_{\vartheta+\omega+1}(x, y) - yP_{\vartheta+\omega}(x, y)\}$$

Proof.

By Binet's formula,

$$\begin{aligned} \sum_{b=0}^{\vartheta+\omega} P_b(x, y) t^{-b} &= \sum_{b=0}^{\vartheta+\omega} \left(\frac{\ell_1^b - \ell_2^b}{\ell_1 - \ell_2} \right) t^{-b} \\ &= \frac{1}{\ell_1 - \ell_2} \sum_{b=0}^{\vartheta+\omega} \left\{ \left(\frac{\ell_1}{t} \right)^b - \left(\frac{\ell_2}{t} \right)^b \right\} \\ &= \frac{1}{\ell_1 - \ell_2} \left\{ \frac{1 - \left(\frac{\ell_1}{t} \right)^{\vartheta+\omega+1}}{1 - \frac{\ell_1}{t}} - \frac{1 - \left(\frac{\ell_2}{t} \right)^{\vartheta+\omega+1}}{1 - \frac{\ell_2}{t}} \right\} \\ &= \frac{1}{(\ell_1 - \ell_2)t^{\vartheta+\omega}} \left(\frac{t^{\vartheta+\omega+1} - \ell_1^{\vartheta+\omega+1}}{t - \ell_1} - \frac{t^{\vartheta+\omega+1} - \ell_2^{\vartheta+\omega+1}}{t - \ell_2} \right) \\ &= \frac{1}{(\ell_1 - \ell_2)t^{\vartheta+\omega}} \left\{ \frac{t^{\vartheta+\omega+1}(\ell_1 - \ell_2) - t(\ell_1^{\vartheta+\omega+1} - \ell_2^{\vartheta+\omega+1}) - y(\ell_1^{\vartheta+\omega} - \ell_2^{\vartheta+\omega})}{(t - \ell_1)(t - \ell_2)} \right\} \\ &= \frac{1}{t^{\vartheta+\omega}(t^2 - 2xyt - y)} \{t^{\vartheta+\omega+1} - tP_{\vartheta+\omega+1}(x, y) - yP_{\vartheta+\omega}(x, y)\} \end{aligned}$$

□

Theorem 3.9. For $\vartheta, \omega \in \mathbb{Z}$, we get

$$\sum_{b=0}^{\vartheta+\omega} Q_b(x, y) t^{-b} = \frac{2t^2 - xt}{(t^2 - 2xyt - y)} - \frac{1}{t^{\vartheta+\omega}(t^2 - 2xyt - y)} \{tQ_{\vartheta+\omega+1}(x, y) + yQ_{\vartheta+\omega}(x, y)\}$$

Proof.

By Binet's formula,

$$\sum_{b=0}^{\vartheta+\omega} Q_b(x, y) t^{-b} = \sum_{b=0}^{\vartheta+\omega} (\ell_1^b + \ell_2^b) t^{-b}$$

$$\begin{aligned}
&= \sum_{b=0}^{\vartheta+\omega} \left\{ \left(\frac{\ell_1}{t} \right)^b + \left(\frac{\ell_2}{t} \right)^b \right\} \\
&= \frac{1 - \left(\frac{\ell_1}{t} \right)^{\vartheta+\omega+1}}{1 - \frac{\ell_1}{t}} + \frac{1 - \left(\frac{\ell_2}{t} \right)^{\vartheta+\omega+1}}{1 - \frac{\ell_2}{t}} \\
&= \frac{1}{t^{\vartheta+\omega}} \left(\frac{t^{\vartheta+\omega+1} - \ell_1^{\vartheta+\omega+1}}{t - \ell_1} + \frac{t^{\vartheta+\omega+1} - \ell_2^{\vartheta+\omega+1}}{t - \ell_2} \right) \\
&= \frac{2t^{\vartheta+\omega+2} - t(\ell_1^{\vartheta+\omega+1} + \ell_2^{\vartheta+\omega+1}) - t^{\vartheta+\omega+1}(\ell_1 + \ell_2) + \ell_1\ell_2(\ell_1^{\vartheta+\omega} + \ell_2^{\vartheta+\omega})}{t^{\vartheta+\omega}(t - \ell_1)(t - \ell_2)} \\
&= \frac{2t^2 - xt}{(t^2 - 2xyt - y)} - \frac{1}{t^{\vartheta+\omega}(t^2 - 2xyt - y)} \{tQ_{\vartheta+\omega+1}(x, y) + yQ_{\vartheta+\omega}(x, y)\}
\end{aligned}$$

□

Fourthly, we define identities involving common factors of bivariate Pell and Pell-Lucas polynomials.

Theorem 3.10. If $P_b(x, y)$ and $Q_b(x, y)$ are Bivariate Pell and Pell-Lucas polynomials, then holds for every b and s ,

- i. $P_{2b+s}(x, y)Q_{2b+1}(x, y) = P_{4b+s+1}(x, y) + (-y)^{2b+1}P_{s-1}(x, y)$
- ii. $P_{2b+s}(x, y)Q_{2b+2}(x, y) = P_{4b+s+2}(x, y) + y^{2b+2}P_{s-2}(x, y)$
- iii. $P_{2b+s}(x, y)Q_{2b}(x, y) = P_{4b+s}(x, y) + y^{2b}P_s(x, y)$
- iv. $P_{2b-s}(x, y)Q_{2b+1}(x, y) = P_{4b-s+1}(x, y) + (-y)^{2b+1}P_{s-1}(x, y)$
- v. $P_{2b-s}(x, y)Q_{2b-1}(x, y) = P_{4b-s-1}(x, y) + (-y)^{2b-1}P_{1-s}(x, y)$
- vi. $P_{2b-s}(x, y)Q_{2b}(x, y) = P_{4b-s}(x, y) + (-y)^{2b}P_{-s}(x, y)$
- vii. $P_{2b}(x, y)Q_{2b+s}(x, y) = P_{4b-s}(x, y) - (-y)^{2b}P_s(x, y)$
- viii. $(x^2y^2 + y)P_{2b}(x, y)Q_{2b+s}(x, y) = Q_{4b+s}(x, y) - (-y)^{2b}Q_s(x, y)$
- ix. $Q_{2b}(x, y)Q_{2b+s}(x, y) = Q_{4b+s}(x, y) + (-y)^{2b}Q_s(x, y)$

Proof.

Using Binet's formula of Bivariate Pell and Pell-Lucas polynomials and Principle of Mathematical Induction (PMI) on b and s , the proof is clear. □

Finally, we present two cross two matrix for bivariate Pell and Pell-Lucas polynomials by $B = \begin{bmatrix} 2xy & 1 \\ y & 0 \end{bmatrix}$.

Then, we can write, $B^n = \begin{bmatrix} P_{n+1}(x, y) & P_n(x, y) \\ yP_n(x, y) & yP_{n-1}(x, y) \end{bmatrix}$ and we get $\det(B^n) = (-1)^n(y^n)$ (Cassini's identity).

Many authors introduce and present matrices properties and identities of bivariate polynomials [1,2,4].

Theorem 3.11. Let $b \in \mathbb{N}$. Then,

$$\begin{bmatrix} P_{b+1}(x, y) \\ yP_b(x, y) \end{bmatrix} = B \begin{bmatrix} P_b(x, y) \\ yP_{b-1}(x, y) \end{bmatrix}$$

Proof.

Let $b \in \mathbb{N}$. For $b = 1$,

$$\begin{bmatrix} P_2(x, y) \\ yP_1(x, y) \end{bmatrix} = B \begin{bmatrix} P_1(x, y) \\ yP_0(x, y) \end{bmatrix} = B \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

The identity is valid for $b = 1$.

For the mathematical induction on b , suppose that the identity is true for b . Thus,

$$\begin{aligned} \begin{bmatrix} P_{b+2}(x, y) \\ yP_{b+1}(x, y) \end{bmatrix} &= \begin{bmatrix} 2xyP_{b+1}(x, y) + yP_b(x, y) \\ yP_{b+1}(x, y) \end{bmatrix} \\ &= \begin{bmatrix} 2xy & 1 \\ y & 0 \end{bmatrix} \begin{bmatrix} P_{b+1}(x, y) \\ yP_b(x, y) \end{bmatrix} \\ &= \begin{bmatrix} 2xy & 1 \\ y & 0 \end{bmatrix} \begin{bmatrix} 2xy & 1 \\ y & 0 \end{bmatrix} \begin{bmatrix} P_b(x, y) \\ yP_{b-1}(x, y) \end{bmatrix} \\ &= \begin{bmatrix} 2xy & 1 \\ y & 0 \end{bmatrix} \begin{bmatrix} 2xyP_b(x, y) + yP_{b-1}(x, y) \\ yP_b(x, y) \end{bmatrix} \\ &= \begin{bmatrix} 2xy & 1 \\ y & 0 \end{bmatrix} \begin{bmatrix} P_{n+1}(x, y) \\ yP_n(x, y) \end{bmatrix} \\ &= B \begin{bmatrix} P_{b+1}(x, y) \\ yP_b(x, y) \end{bmatrix} \end{aligned}$$

□

Theorem 3.12. Let $b \in \mathbb{N}$. Then,

$$\begin{bmatrix} Q_{b+1}(x, y) \\ yQ_b(x, y) \end{bmatrix} = B \begin{bmatrix} Q_b(x, y) \\ yQ_{b-1}(x, y) \end{bmatrix}$$

Theorem 3.13. Let $b \in \mathbb{N}$. Then,

$$\begin{bmatrix} P_{b+1}(x, y) \\ yP_b(x, y) \end{bmatrix} = B^b \begin{bmatrix} P_1(x, y) \\ yP_0(x, y) \end{bmatrix}$$

Theorem 3.14. Let $b \in \mathbb{N}$. Then,

$$\begin{bmatrix} Q_{b+1}(x, y) \\ yQ_b(x, y) \end{bmatrix} = B^b \begin{bmatrix} Q_1(x, y) \\ yQ_0(x, y) \end{bmatrix}$$

4. Conclusion

In this paper, we present sums of bivariate Pell and Pell-Lucas polynomials. Moreover, we describe sums with negative indices, some connection formulas, and two cross two matrix representation and give several interesting identities involving them.

Author Contributions

The author read and approved the final version of the paper.

Conflict of Interest

The author declares no conflict of interest.

References

- [1] M. Catalani, *Some formulae for bivariate Fibonacci and Lucas polynomials* (2004) 9 pages, <https://arxiv.org/abs/math/0406323>.
- [2] M. Catalani, *Identities for Fibonacci and Lucas polynomials derived from a book of Gould* (2004) 7 pages, <https://arxiv.org/abs/math/0407105>.
- [3] M. Catalani, *Generalized bivariate Fibonacci polynomials* (2004) 11 pages, <https://arxiv.org/abs/math/0211366>.
- [4] H. Belbachir, F. Bencherif, *On some properties of bivariate Fibonacci and Lucas polynomials*, Journal of Integer Sequences 11 (2) (2008) 08.2.6 10 pages.
- [5] N. Tuğlu, E. G. Koçer, A. Stakhov, *Bivariate Fibonacci like p -polynomials*, Applied Mathematics and Computation 217 (24) (2011) 10239–10246.
- [6] S. Halıcı, Z. Akyüz, *On sum formulae for bivariate Pell polynomials*, Far East Journal of Applied Mathematics 41 (2) (2010) 101–110.
- [7] N. Saba, A. Boussayoud, *Complete homogeneous symmetric functions of Gauss Fibonacci polynomials and bivariate Pell polynomials*, Open Journal of Mathematical Sciences 4 (1) (2020) 179–185.
- [8] T. Machenry, *A subgroup of the group of units in the ring of arithmetic functions*, Rocky Mountain Journal of Mathematics 29 (3) (1999) 1055–1065.
- [9] T. Machenry, *Generalized Fibonacci and Lucas polynomials and multiplicative arithmetic functions*, Fibonacci Quarterly 38 (2) (2000) 167–173.
- [10] T. Machenry, G. Tudose, *Reflections on symmetric polynomials and arithmetic functions*, Rocky Mountain Journal of Mathematics 35 (3) (2006) 901–928.
- [11] T. Machenry, K. Wong, *Degree k linear recursions mod(p) and number fields*, Rocky Mountain Journal of Mathematics 41 (4) (2011) 1303–1327.